RISULTATI ANALITICI RELATIVI Al CAMPIONI DI ACQUE SOTTERRANEE
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Unita di Misura mV|| mS ||[mgO /|| pg/l |[ pa/l || pg/l || po/t || pg/l || pa/t || po/l [ po/t || wo/l [ pa/t || po/l || wo/t || pa/t || wo/t || po/t || po/t || po/l || wg/t || no/l || no/l
Limite di rilevabilita 0,1 0,1 1 1 01 |[ 01 1 1 1 10 1 1 0,01 |[ 0,01 |f 0,01 | 0,01 || 0,01 || 0,01 |[ 0,01 |[ 0,01 |f 0,01
CLA da DM.471/99 10 5 50 5 1 20 10 || 1000 || 3000 || 200 || 50 01 || 0,01 ] 01 | 005]| 0,01 5 001 |[ o1 50

AlllP=A1ll P |f 122 | -38ff 271 | <01 |[ <01 <1 || 83 || <01| <01l 65 || 2.4 || 25 || 10,2 || 680 || 52 | <0,01]/<0,01|<0,01f<0,01|f<0,01]f<0,01]l<0,01]/<0,01|<0,01

AS[[P =-A5| S |l 10,2 ||159(f 837 | <01 |[ <01 <1 || 105 <01 <01 7.3 || 3.2 || 3.8 || 157 || 595 || 64 | <0,01]/<0,01|<0,01f<0,01f<0,01]f<0,01]l<0,01] <0,01|<0,01

ClllP-=C1|| P || 103 | -16] 1509| <01 |[<01] <1 | 54 |[<01|f<01]| 54 | 75 | 24 || 12,3 539 || 87 |/ <0,01|<0,01|f<0,01|f<0,01] <0,01]/<0,01|<0,01<0,01ff<0,01

C3llP=C3|ll S 9,9 [[132] 6,41 | <01 || <01 <1 78 || <01 <01 83 6,7 3,8 8,5 || 590 77 |[<0,01|/<0,01]<0,01|f<0,01f<0,01| <0,01|f<0,01|f<0,01|<0,01

Co||P-=Co| S 9,3 ||-15]] 93 || <01 |[ <01 <1 85 || <01l <01 94 5,4 1,9 7,8 || 495 65 || <0,01f[<0,01)/<0,01f<0,01]f<0,01|<0,01]f<0,01|<0,01|f<0,01

F1IP-=F1|| P || 109 |[128]] 192 <01 || <01 <1 || 7.4 || <01 <01 74 || 28 || 25 || 93 || 520 || 58 |[<0,01f<0,01| <0,01] <0,01|<0,01f<0,01f<0,01]f<0,01] <0,01

F3IP-F3|| S || 735(f160]] 23 || <01 || <01 <1 |[ <1 ||<01) <01 <1 || <2 || <2 || <1 | 549 || 59 [[<0,01f<0,01]l<0,01] <0,01|<0,01f<0,01f<0,01]f<0,01] <0,01

F6IlP-F6]| S | 101 ([127]] 827 <041 || <01 <1 || 54 || <01 <01 53 || 31 || 25 || 93 || 557 || 48 |[<0,01f<0,01] <0,01] <0,01|<0,01f<0,01|f<0,01]f<0,01] <0,01
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Unita di Misura ug/l || pg/l || pg/l pg/l || wo/l || pa/l || wo/l || po/l || po/l ug/l ug/l ug/l ng/l ug/l ug/l ug/| mg/l || mg/l
Limite di rilevabilita 0,01 10 10 1 0,01 0,01 0,01 0,01 0,01 1 1 1 0,1 0,1 0,001 0,1 0,1 3,5
CLA da DM.471/99 0,1 10 10 1 50 25 15 10 1,5 1,1 0,2 810 60 250
AlllP-A1l P <0,01|f <10 22 <1 ||<0,01|<0,01/]<0,01 7 <0,01) <1 <1 5,4 0,5 0,5 < 0,001 <0,1 <0,1 2580 78
A5|| P - A5 S <0,01| <10 || <10 <1 ||<0,01|<0,01{]<0,01|<0,01{}<0,01)| <1 <1 9,9 0,2 <0,1 < 0,001 <0,1 <0,1 2250 || 134
ClllP=-C1 P <0,01| <10 || <10 <1 ||<0,01|<0,01/]<0,01 6 <0,01) <1 <1 8,3 <0,1 0,8 < 0,001 0,4 <0,1 2140 || 187
C3lIP-=C3 S <0,01| <10 || <10 <1 ||<0,01|<0,01{]<0,01|<0,01[}<0,01)| <1 <1 7,2 0,2 0,7 < 0,001 <0,1 <0,1 1940 (| 144
C6[|P-C6|| S [[<001] <10 23 || <1 |[<0,01][<0,01]<0,01] <001 <001f <1 <1 <1 <0,1 <01 || <0001 | <01 <01 || 1870 || 167
F1llP-F1 P <0,01| <10 || <10 <1 ||<0,01|<0,01/]<0,01 3 <0,01) <1 <1 <1 <0,1 <0,1 < 0,001 0,2 <0,1 2240 || 185
F3||P-F3 S <0,01|f <10 || <10 <1 ||<0,01|<0,01{]<0,01|<0,01[}<0,01)| <1 <1 <1 <0,1 <0,1 < 0,001 <0,1 <0,1 2580 || 204
F6|| P -F6 S <0,01| <10 || <10 <1 ||<0,01|<0,01{]<0,01|<0,01{}<0,01)| <1 <1 <1 <0,1 0,3 < 0,001 0,3 <0,1 1545 97




